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Note : 
	

Question No. 1 is compulsory. Answer any eight 

questions out of the remaining nine questions. Answer 

to a four mark question may not be longer than 150 

words. 

1. 	(a) Give one example each, with justification, 	4 
to show how the following processes are 
used in real-life situations : 
(i) Particularisation ; 
(ii) Exploration of a concept. 

(A) 	(b) Give an activity to help children of class 2 	4 
CD 	 understand the meaning of zero as a 
--j 	 placeholder. Also give an activity that will 
N 	 help you assess the effectness of the first 

activity. 
(c) Give two different ways, in brief, in which 	4 

children could be helped to understand 
'negative number'. 

(d) Give an activity to help assess a class 3 	4 
student's understanding of 'half'. How 
would you modify this activity to 
understand how far a class 2 child has 
understood 'half' ? 
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(e) 'Expectations of adults can hamper 	4 
children's learning.' Explain this statement, 
using examples pertaining to the study of 
shapes. 

2. A teacher should not teach from a textbook 10 
blindly. Give four ways in which a teacher can 
make the teaching-learning process more 
meaningful if she does not just follow the 
textbook. Also illustrate them in the context of 
learning about 'angle'. 

3. (a) What is the E — L — P — S sequence of 	6 
learning ? Illustrate it in the context of 
learning about 'time'. 

(b) List all the pre-number concepts. Explain 	4 
how any two of them are used in the process 
of counting. 

4. (a) How can repetition be useful for the learning 	3 
process, and not be boring for the learners ? 
Explain this using an example related to 
learning an algorithm for addition. 

(b) A class 4 student solved a problem as 	5 
below : 

2 ± 1 = 3 

5 	5 	10 

Has she solved the problem correctly ? Give 
reasons for your answer. 

Further, design a series of two activities to 
help children learn to add like fractions. 

(c) Write 65 in the quinary system. 	 2 
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5. 	'Mathematics is an hierarchically structured 
discipline.' Explain this statement. Also illustrate 
it in the context of algebra. Further, list three skills 
children develop while learning algebra. Justify 

your choice of skills. 

	

6. 	(a) List 5 categories of real-life contexts 
requiring multiplication. Also give a word 
problem of each type. 

(b) Give an activity to assess whether a child in 
class 3 is able to differentiate between flat 
and non-flat surfaces. 

	

7. 	(a) Pictorially represent the following : 

2 	3 

3 	7 

2 	3 
1— 

5 	4 • 

(b) What is the language of Mathematics ? 
Further, give two activities to help children 
of class 5 develop their ability to use this 

language. 

(c) Give an example, with justification, of an 
open figure that has symmetry. 

8. 	(a) Prove or disprove the following statement : 

If m and n are two numbers such that m+ n 
is positive, then both m and n must be 
positive. 
Based on the outcome, make a further 
conjecture and prove or disprove it. 

(b) Arrange the following numbers in 
descending order : 

4, 3.142, 4.5, 4.06 

10 

8 

2 

2 

5 

5 
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Explain the process you have used to 
compare these numbers. Describe an 
activity for a class of 25 children to assess 
their ability to compare decimal fractions. 

9. (a) Give a strategy comprising three distinct 	8 
types of activities aimed at helping a class 4 
child understand division of a fraction by a 
whole number. How would you modify any 
one of these activities to make it a whole class 
activity ? 

	

(b) Give an example, with justification, of a 	2 
non-standard unit of time. 

10. (a) Give an activity to help children understand 	4 
the need to move from non-standard to 
standard units for measuring length. 
Further, describe an outdoor activity which 
can be used to assess the effectiveness of the 
process. 

	

(b) Which of the statements given below are 	6 
correct ? Justify your answer. 

A single mathematical expression can 
represent several situations. 

Assessment begins after the 
teaching-learning process ends. 

( — 5) — ( — 8) = —13. 
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